| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
1g Entries 5260 1 — Entries 5260
E Mean 1.083 ' Mean 1.58
F Std Dev 0.7954 N Std Dev 2211
10_1§_ mllsslng;lnnerilayers 10_1 """"" ‘ T mlssmg;uuteri\ayers
= Entries 5485 = : Entries 5485
r Mean 1.04 r : Mean 1.768
Std Dev 0.7748 . Std Dev 2.306
1072 T O S -
E missing_inner_layers E N missing_outer_layers
C Entries 5372 C .| Entries 5372
3| . I mean 1.044 Bl 1. | Mean 1.763
10 Std Dev 0.7757 10 + |Std Dev 2.313
: - ] : : [
I missing_inner_layers o missing_outer_layers
—4 L Entries 5568 —4 L Entries 5568
10 E Mean 1.027 10 E H Mean 1.758
o Std Dev 0.7747 o . Std Dev 2.302
10°F 3 B30 IRARET LR LR A L S R resseases froceenees
.910I_6l_....|....I....I........I....I....I....I....I.... .910—6 I
IS IS SRR o Ay = °f A AR
o Rl o0 2 oo=ho o 0oorose o o A A A A o :
0.9 :_ ..................... .
08 o . P | = EEEPERE.—= SRR 1 TR, PR P
0 8 9 10 20 25
—— SSW_CKI__RECO
=== DQM_V0001_R000000001, Global CMSSW_mkFitOriginal__RECO
mean hif === DOM_V0001~R000000001 _Global __CMSSW_mkFitLowPtQuad__RECO
= DOM_V0001_R000000001__Global__CMSSW_mkFitLowPtTriplet__ RECO
= 20 =R Entries 5260
» L F Mean 13.77
> 18 [:
/U\) r T
a r L.
= 16F
Y r 5
14F 10%E
12 F:
10F L.
- -
8 10
- E:
6 [:
4 »
2F : 1
° O;....I....I....I....i....i.... ° f
PR SRR TR & a1 RS S 5 .t
[hd = (o S| EEL o AREREEEEEEEESEEEEREEERE] B S K B X EEEREREEEE
0.9F------ k-2t R - [
0.8L ] B USOBRASE" Jhui ot bk 4 SE 360N 1 't u O S
= 3 0 5 10 15 20 25 30 35 40
track n track hits
[Nofreco track vs pT |
num_simul_pT num_reco_pT
Entries 144536 Entries 6979
Mean 2.095 r Mean 1.344
Std Dev 6.135 = Std Dev 2.735
: : I 107 Py T T i
N num_simul_pT E num_reco_pT
2 i __________________ Entries 144536 N Entries 8249
10 3 : Mean 2.095 o Mean 1.274
F : Std Dev 6.135 10°F Std Dev 3.435
N : : I E : |
) . num_simul_pT B num_reco_pT
i tries 144536 3 B Entries 8143
: 2.095 10 °F | Mean 1.27
: F Std Dev 3.395
-4 ... , num_simul_pT B num_reco_pT
107F : Entries 144536 107 Entries 8428
F Mean 2.095 E Mean 1.251
N td Dev 6.135 o td Dev 3.327
-5
10 1078 3 RSSERTEEELEIELEC SERRRETE | | { [ SRR
010% 0107°F
?c' ?5' 1.2
o o N
4 1__
0.95 8L
10t 10t




	Contents
	Page 1


